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Math 125: Quiz the Second

September 17, 2021

You have the remainder of the period to complete this quiz. Please justify your answers where ap-
propriate and READ ALL DIRECTIONS CAREFULLY. You may use a calculator for computation

only.
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1. Suppose r = f(6). Find the equation for the slope of the graph of f at a point (z,y)
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2. Find the slope of £(6) = =2 iF
. Find the slope of f(0) = cos(20) whent9—4
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3. The graphs of r = 3sin(#) and 7 = 1 + sin(#) are given below.
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Set up, but don't evaluate, an integral or integrals to determine the area inside re=sild?)
but outside r = 1 + sin(f). Pay attention to the bounds on these integrals!
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4. Sketch-and describe the graph of 22 +y% =9 in
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6. Find the distance from the point (3,1,2) to

(a) The zy-plane
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(b) The z-axis

13,12, (00.2) )
[T = V10




7. Let v=(1,-2,2) and w = (3,4, —2)

(a) Find the magnitudes of v, w and v+ w
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Q (b) Find a unit vector in the direction opposite (anti- p&mllcl) to 5
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8. (Bonus) Suppose that a standard clock has 11 vectors on it, each with its tail on the 6, and
each with its head on a different number. What is the sum of these vectors?



